Lezione 36

La!{ac,e {:W-MSJ&‘W\ of

(i ) (s) = E%: (a€C)
(£ cosleon)) (s) = g:&

" (e R)
(L sinlw)(s) = 572

(¢ (e,axﬁ(x)»(S) = (LP)(s-a) (a€C)

n-1

1 A X ax
( I L > (el = (n-4)! N

(£ 29 () = Q) (58{1)(33 - é_/t ;f('“)(ﬁ R

U"(x\ + a, nl(x) + 0, U(x\ = b(x) ) x>0
v(°)= 30 / :jl(o) =Y
L

= ( gl+a4s+a32 (iﬂ)(s)—- (yos Y +a4j°> =(?fé)(s)
=: P(s) =: Q(s)
¢

= ‘m(x): (272 ) ) « bx(;{qﬁ(ﬂ‘

eeeeeeeeeeeeeee



-ig 3(&) = (Iﬂ% ) () « bx(;{i—:;) (%)

= (i” Q;«fb R
Pcu-Jc(b«-Q fmcHOm A.QC,GM!OOSL“E('DVI

Let Ple) = (s-2o)(s-24) whase  AgEXN,  NEC,

—_—

Ple)  She  SNq

. (OH-(o\S - &)\4— b XNo
(S—)\Q) (Q'—/\’l)

@(s)!_a_klo

withn
Q) Q(XNo)
T X -
o ds= X No— A4
Lo Q) _ QW)
S- Mo \S"/\’l }\4—)\0

or, e?ui va-éo/n{% )

a+19=3° ) -a>\4-b>~°=t34+0<,\3°

Exescise Leb P(s) = (S-—/\)Z , re

Q) o) L

4

P(s)  s-X (SSN5

lectures Pagina 2



FI‘V\O( A 0(!«0( b.

omple a,=-1 Ao=-9
Lﬁ“(@- 2?04)- x‘g{x\ =0 < bl=0O
yo)=1, (d'(o);%
Go=1 Y=
Charackmshe  polyunomial :
P()= s%-25-8 = (s+2)(s-4)

oundl
R(s) = s.
Tham
Qls) a . b
P()  S+2 s-b
Lot Ha
S ( A
YT e leag T3
> - £
S [ =

lectures Pagina 3



— A -
JU‘) = 5‘ e i + ES
2 ¢

EX&W\'B&
Y (%) - 23‘(><) + Z&(x) = blx)

(0)=
Tlhaen S L, 31(0): 3

Pls)= f-2s+2

- (s-— (/1+L)> (S—(A-L))

(P(s)= straq s va, with a
o|‘heﬂ2
N o o‘- P N
= X 2oo vﬂ
P

P(R) - RZra n '
) N +Q4>\+Q° = >\2+G A+
A Go ;O‘—'O
Q)= 2¢-1
Q)
e/ Q
N b

P (<) S = (4x() s—(4-0)

2¢-4
Q:
. A+2¢
2 T 20 24'—&2_

S= /(‘\-L



S-(1=)
_ (44—(.))( (4 (_)x
=1-3) e + (s %:)
X Oy X L —ix
= e | (U-3)e « Ur3) e

0

Ve CX — X L (X X
€<e_+e, +L(e_ —-ef))

.
{r‘&—le =
Cosei(sihé’;l

(1

ex( 2 cos x + S(v\x>
= 9(x)

%(»L\ v Ha  welulion o

y') = Lg'e) w2y = O
5(0)= 2 (3'(6)= R

0

A A A A >
P(s) A ( S- (A1) S-(1-0O



£ 5N - 2 (6(4+C)><_ 6(4—C)x>

—

4
(gkfb)(z)-: L f(n)g&-y)dy

X .
= € 3SIinX

T

X
(b* 0{4%—3 (%) = exj b(y) e 7 s{n(x—y )d(y
ano
5(&) = 6(*) +  bx(f “?5‘) (x)

X
fﬁ(x) CK*/ L e L bly) e—\/54k(x—d\ dy
\

(

(1(:0&)( + Sl ><>

Exoumﬁfe.

\\)“(x) “ Z&j‘ () 453&) = e,—xsfm(

P(s) = ?12c+5  hat no read zesos .
Applying &

A
(el 2esS JEYI)-1 =

(S+ 4)?'4- A

2
(. )\ () — $74 28+ 3

lectures Pagina 6



2
(ij)(&)-—- ST 85 S
(2318+2)(s%+25+5)

(ool ) parjcfa@ (fO'OdLl'Oh ﬂcok«fo.slg'ﬂ)h?

st 284 Ass & Cs+ D

+

(s 2e+2) (5% 2 +§> So 2532 s s+ S

I

- ea - -] (4

Q82+ZSAZ7( §l2¢a$)

]

racls to

A+C = 0O
QIA+B+2C+« D ="
SALLR+2C+7D = 2

SR+ 2D=3
r A O 1 O @)
2 4 2 A 1 _
g 7 2 2 Z — é\aus.s-ﬂ%cm&%
S |
_ A 2
= A=C=0 | &= Z D= B
w0 = A 5 s B
3 St+2s542 +3<0f SZ&SJPS)(")

u n
(‘omvaHGV\ o'(» Squacets

eeeeeeeeee gina 7



n

UCOMPCLHM (yt, &%mrcs

2 2
SZ.-\-QSJ«-B = (5+9£> ——%‘('k)
e £ (" )W o = Y
) S (5:1)% +1 S () ol

- X

‘(j(x = —%— e (S{mx + Sin (2,<)>

E)toLW\ P{L4

3,’1(%) n 19'164)_ gfﬂ(“) = N e.\(
) = gy )= i (<) = 6
94 (O) = 31(03 = O

_ Y4 ()
|y (3)

Ay + By(x) = bK)
y(©)

\
O

lectures Pagina 8



hoply &
S (i“yn 5
(S— é)(f‘jq (S) - S @537_)(8) = é ‘L

S
& S 23‘3> ((igﬂ@) _%_
A -5 (£5,)(9) ( < )

— —
(a 6\ A d —b )
( 4 /] ( - S 3-28
Al = 3(s-2.)(s-3) 6-5 S
We tﬂ‘«d
A A + 1 A
(Icy)(sﬁ‘ 7 e it 2= s
= 4 _ s A
CONIG N T 2 3y 2 51
_1
A'ppzyfms Sf-
a4 (x) = iz P ste’gx_ A
‘OLLK)= é&zx‘%egx— %ex

lectures Pagina 9



L X PR B
(x) = L oX_ <
34 X) > ;e Ze
(3164)— ée, 26 Ze

lectures Pagina 10




